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-XERCISE

Two charges 5 x 10® C and -3 x 10® C are located 16 cm apart. At
what point(s) on the line joining the two charges is the electric
potential zero? Take the potential at infinity to be zero.

A regular hexagon of side 10 cm has a charge 5 pC at each of its
vertices. Calculate the potential at the centre of the hexagon.
Two charges 2 pC and -2 puC are placed at points A and B 6 cm
apart.

(a) Identify an equipotential surface of the system.

(b) What is the direction of the electric field at every point on this
surface?

A spherical conductor of radius 12 cm has a charge of 1.6 x 107°C
distributed uniformly on its surface. What is the electric field

(a) inside the sphere
(b) just outside the sphere
(c) at a point 18 cm from the centre of the sphere?

A parallel plate capacitor with air between the plates has a
capacitance of 8 pF (1pF = 1072 F). What will be the capacitance if
the distance between the plates is reduced by half, and the space
between them is filled with a substance of dielectric constant 6?
Three capacitors each of capacitance 9 pF are connected in series.
(a) What is the total capacitance of the combination?

(b) What is the potential difference across each capacitor if the
combination is connected to a 120 V supply?

Three capacitors of capacitances 2 pF, 3 pF and 4 pF are connected
in parallel.

(a) What is the total capacitance of the combination?

(b) Determine the charge on each capacitor if the combination is
connected to a 100 V supply.

In a parallel plate capacitor with air between the plates, each plate
has an area of 6 x 10° m? and the distance between the plates is 3 mm.
Calculate the capacitance of the capacitor. If this capacitor is
connected to a 100 V supply, what is the charge on each plate of
the capacitor?

Explain what would happen if in the capacitor given in Exercise
2.8, a 3 mm thick mica sheet (of dielectric constant = 6) were inserted
between the plates,

(a) while the voltage supply remained connected.

(b) after the supply was disconnected.

A 12pF capacitor is connected to a 50V battery. How much
electrostatic energy is stored in the capacitor?

A 600pF capacitor is charged by a 200V supply. It is then
disconnected from the supply and is connected to another
uncharged 600 pF capacitor. How much electrostatic energy is lost
in the process?



[xorcise

3),_ Hara £ : 1AV, v: 040 : ity
Me cuvvent  drawn (rom Hao BO.Q'\OJPj _will h @ reoak i
whan Y extornod resistareo n Mo Urcomk g

_zerpn . R=b s RPN
el Pottmng o Eﬁ SR - A
m— v_ﬂ, O k«
ME-fs. L C P afouy - @
Rt v J
L P\: a S e S \.'I-S‘—
i 0-s

Tarminod yolhmo,.

v: TR - osxﬂ:amsv

i RS - R, 1+ Rad Rg,; €S

> )
221
i;} Lot B Do Cipepidi., Tet & L2 - 2A
B (=
* Dotontiol dvap across duffovont reSistoss  ang
Vi = PR, = 3x1~aV
; e 0T Rods 208 s v
| Va - TRy - 8&X3°bv
3,&4;} B ‘..\.I_L: | SR SR o FIo ¥
ﬁ:'\i,} twergnd drowon through dffonord  rasistors ang
ii I-_:t‘m_wnn ,mq‘(a:ﬂg.:SHL
R - o~ “
Ty- £, > W -yp
Ry

Moted v Arawn Prom  tha IaCLHmu. y

T, T.*QM—-T&— I0F S +Y =\Q .




0 X
——a23 1 Hoad h:woa | ResUiae . bes2d (- 3
e . « ] VR R S
: NI DN TN e e ) S 3

s | R L _____—_——/\

,,“\*_ﬁ_____-_;‘{l“tl o= [V ~RégF < 3 ~10_Pf’—’3"mjj’—““\
e

R RS SR Rl ol lOU)Gl}OXID-—————" BN

-\

‘ 4 e
Bl toc\oom bt ioppeol =027 —
3 =y e
, Homot Bz 1St B ciofio md L Qi O 1 .
; | ﬂogpgdiud% P o i S‘;DX é.b/\lDrj —
& LS L 8

Ti : ik
! =z .0 X6 S m
| 3
ﬁ R, =204 o uob b 13T Sy Ry = .19 44 = |OO\C
L Lamponaturae (oo fficiond of roq:‘.ghu.'ttj of silvern,

! X - @A'P\l

) Rilty-t,) F
'} - w7 -ad : | 0.6 B
9.4 L100-2%.5) . Alxja.s

PN
i i ]| )
* 0.00344 ¢

L e




__/3_)_.__.. HQJ\_Q, V. R0 v ’ . S B . : el
I T, WP B o AT, i

. Resistance ot room 4am paonature

B Ny o - 230 . fl.-83Sa
TR

- Rosigstance od shadd fem paraturo,

Ra'—%_ S e LoD B s B by S
i e o

Now s @_;LFP;\
RLLtR't‘)

g ot Ro-Ry
Rix

= o SRR 4 e AN
Fl3ts o Hoxiel |

> e degxliol o 1 8yo B c
Ty S X Uit

| a il Neody  Yempanattiva ol olomond ,
| Lo gun »s 487 = §67.95" ¢

’i("l’b
\'3‘“5?1‘ ST
Vo) L:T\,Tf_\_,rpi\, ho HA_Q‘ @\$ IB%]L

A
Curromt ) Shown W e : 2 f) > s
| 23‘7\ \

onnly Wirenlbolfls X
LE b i . l§|°n LL

S QLo '
\DOFS /Tl*’ls

33




{ ).JE;;H \\;
S . From_ loop ARDA, =
i | ST b S Do STl pf S 3 — i
B B nenonend, A L
ok - | St -Ta)-1o U‘u.tlﬂ $Taf0 7
_____ﬂﬁfbi \900 RGOl = -
T O TN LTq_kTg\ 4 10 (Do D, )- o
————— i D \DT%-ST«\ 15fg 9 -~ ®
etk ois SI; - lD L7 Vs OTQ =0 T8y,
02 4 8STH41002 =10 -@
— 38
SO\\J\V\E\J Q-qv' ®r 1@ '!JEQ\QJQ—" — 3
s - SO 3
| 14 |7 L3 |
: Curront in  difforond  brandags axd
'\!f
B 1l T RPN D=l Pl Pa: £ 5 L |
I = Ly
T D¢ TR flse sl n' ol vss P 6 A
[ 13 1
MRSz G N T E
| \t
ted  currand - =
d s Ted Ta - 10 A ', el
-
L

310 ‘gi;L_mhm_HASL qod vanometon  ond ot coe \nierchahoeo
; J

| ok g hm.lcmconl nomt

Mo onch Hong of

=
Al e bodanced bmnﬁ&c}m\m Shll_sohs Fiod .
__and_sna Ckga}n Muanvlulr\,om«m will ot o
¥ __3how any  turraal - .
|
!



w. Hore 2:asdem ReX:1 , 8§=Y =10.50
Bs A DD - A x® il LRSS SO s SRS x4
A X .5
or  R=:13.5 X395 -%.n
4 0 ' &

__lonnaction  ane meedtet maocle b(j Hat el Coppon »
. shdh o minmise e vesisdancd of lomnehons

whith ang ok o ceaunded for in Ha above
formulo

LR

W) Whan x L Y cog 'm{;zm:haﬂgaab

R 15 Ol Ll SN :%’tleﬂ,i;%
As Qs W000-k ¢ Rilcgog volk  aancrenes
A L

FAg L= 12AS6-1SQ

[l

~ 9- 1250 - 0. SO From Hw onck A
RO6(

%& wholh Hho.  stbrage Badior. Lot istooyoltuis chMqud
wiky, o dc supply ofi&\év,whd omFE in o

\ d 1y 0 4
otk ot ho . gl o 190 3.0 )V

UJN’OVQ iy CJ"rcuA‘{ Mmcal charuain\c]z
T‘ ?,’ - _\\L :‘.IF)

ir 155108

W derminad  yoVlege a?&umw_a_mmﬁ

chgrm'h(],
g d
Yz £ 4TV = F047 x9.8= .SV

Tha  Sori oy resistor Lenits Yo currank  drawq

feord Wag  axtopnol  sourco . Tn i3S ohsoncd.

WA cmrrond  will bae  dangoxously aw,
. @t





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

